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Bs2DsK toyMC

1. Without detector effects, the uncertainty of y—2ps is estimated to be 0.0016 (i.e. 0.092°) .

toyMC input
toyMC output

e 27361076 Events per channels

vars value error
vars value

y—28, 12192 0.0016
y—28, 122

T 0.39983 0.00052
T 0.4

d 0.9997 0.0014
J 1

T 0.64993 0.00021
T 0.65

AT 0.06497 0.00052
AT 0.065

AM 16.24986  0.00051
AM 16.25

ef frag 0.8 fixed
effia 0.8

a9 Wrag 0.15 fixed

Wiag 0.15

2024/7/26 2



—+ B DK

—— B> DK
B~ DK

—+ B DK
untagged DK

—§- untagged DK"

Bs2DsK toyMC

Decays / (0.04 ps)
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Bs2DsK Reco at Truth Level Y o
2 Ee 4 B> DK
L Fooo=- %, B DK
Dsoooi .“ + B
/afs/ihep.ac.cn/users/m/mzhao/workdir/BsDsK/GenBsDsK/data Y
const double BsMass = 5.3693; o N
const double DsMass = 1.9685; e .
const double BsMass_tole = BsMass*0.2; (e e “?:"‘é‘““m
const double DsMass_tole = DsMass*0.2;
Histogram of Ds_invariant_mass Histogram of Bs_invariant_mass
- hist_Ds - hist_Bs
5 L Entries 44694 S r Entries 44694
Booo— Mean  1.958 Sooo|— Mean  5.378
E RMS 007732 C RMS  0.1529
3500? 2500
3000— C
F 2000
2500 — E
2000; 1500~
1500; E
F 10001—
1000 B
F 500{—
500 — r
e e i i et i et e W I i T i
%8 185 19 195 2 2.05 2.1 X 5.2 53 54 55 56 5.7
Mass [Gev/c"2] Mass [Gev/c"2]

2024/7/26 4



Bs2DsK Reco at Truth Level i o
e

/cefs/data/stdhep/CEPC91/2fermions/4ML_GigaZ 2/bb

const double BsMass = 5.3693;
const double DsMass = 1.9685;
const double BsMass_tole = BsMass*0.2;

— £ 3 . t[ps]
const double DsMass_tole = DsMass*0.2;
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Bs2DsK decay time DIY

/afs/ihep.ac.cn/users/m/mzhao/workdir/BsDsK/ToyBsDsK/data
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Bs2DsK
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Feynman diagram of Bs2DsK
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